1.  a(2a-b) - (b-2a) & A5EsH51H?

® (a—-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @) (a+1)2a-b)
® a(2a-b)

a(2a —b) — (b—2a) = a(2a—-b) + (2a - b)
=(2a-b)(a+1)
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x—=2y)(x—2y—4z) - 1222 o] A7 1 Q1 F dApA o) Fo=m
ol o, & Ao e Aot ?

T

® 2x-4y+4z (@)2x—4y—4z ® 2x-4y+ 3z

@ 2x 44y +4z ® 4x-2y-4z

~&B

x—2y=A 2} o}H
A(A -4z) - 1272 = A% - 4Az - 1272

= (A-62)(A + 22)

= (x=2y-62)(x - 2y + 22)
L (x=2y—6z)+ (x—2y+2z7) =2x—4y -4z




3. (2x-1)°—(x+2)°& AR (3x + a) (x + b) 7} HTF et
ol i, a - b 9] = FsHH?

® -1 @ 3 ® 0 @ 2 ®)4

B

2x—1=A, x+2=BZ *35}1H
(2x-1)% - (x+2)?
=A%2-B?>=(A+B)(A-B)
=(2x-14+x+2)(2x-1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=14+3=4




4. x2-9+4+xy-3y & AFE|5IH?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-1) @) (x-3)(x+3+)
® (x+3)(x=-3+y)

‘ (x+3)(x=3)+y(x-3)=(x-3)(x+3+y)




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)




® x*+1

@ x+1

@ x-1

(@)x2+x—1

@ x2-1




AFEFHE 0|85k 1.23 x 552 — 1.23 x 452 2 A4FsHH 1.23 x| |
o] gk, [ ] ¢tell ggre 5 F51H?

@® 80 @100 ® 120 @ 140 ® 160

1.23(552 — 452) = 1.23 x 100

~[ ]=100




8.

x=-3+ V5 & ], x* +6x+9 O F& F5FH?

R 4+6x+9=(x+32=(-3+V5+3)2=5




9.

x—y= V5 o, 6 - 20y +y% 4 20— 2y -3 9 gL

® 2+5 @ 4+5
@2+2\/5 ® 3+2v5

® 1+2V5

x* = 2xy+y* +2x-2y-3
=(x-y)?+2(x-y)-3
=(V5)2+2x V6-3=2+25




10.

AAE o] Wol7t (a+b)(a+b+1)-30 ©]L, 7k 6] ZO)7} (a+b-5)
d of, o] AAF o] A= o] Aol & oY

® a+b+2 @ a-b+6 ®at+b-6
@a+b+6 ® a-b+5
atb=Az 54

A(A+1)-30 =A2+A-30

— (A+6)(A-5)
= (a+b+6)(atb-5)

w2tA] A 22] Aol a+ b+ 6 ©|th




(x=2a)(x +a)
=(a+b-2a)(a+b+a)
(b—a)(2a+b)







13.

({F_/‘q) ZX(l—yz)_y(l_yz)
=(x-y) (1-)?)
=(x-y)(1+y) (1-y)

@y-1=-(1-y)




14.

e a®+3a 5 tix]is}
9, © = A= 1

nJR

(a®> +3a—2)(a® +3a+4) - 27
=(-2)(t+4)-27=~+2-Q
=(t+0O)(t-©)

= (a*+3a+ ©)(a® + 3a - ©)

® 35,5,7 ® 27,7,5 ® 27,5,7
@ 35,7,-5 @ 35,7,5

~&B

a®>+3a =12t 5t
(t=2)(t+4)-27

=12 +2t-35

=(t+7)(t=5)

= (a®> +3a+7)(a® + 3a-5)
et @ =35 © =7, ©=5 °Jth.




15.

(x=y)(x-y+4)+4 5 52N (ax + by + ¢)? E9 A7}t
w2t} ot a + b+ ¢ 9 27

x-y=AztsHd
AA+4)+4=A%+4A+4
= (A +2)?
= (=72

Ot a=1, b=-1, c=2°|BE
a+b+c=1-1+2=20|th




16. (x—1)(x=3)(x = 5)(x—7) + k 7t FRAABA] HEZ 4% & 9

29

® 2 @ 4 ® 6 ® 11 @16

B ,
(x-Dx-7)(x-3)(x-5)+k
:( - 8x+7)(x>—8x+15) +k
—Sx=A=% EOH,
(A+7)(A+15)+k
=A%+ 22A+ 105+ k= (A +11)2
5105+ k=112 =121
k=16
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O 85k (x4 2)(x + 3)(x - 4)(x - 6) & A7f5F?

@x4 — 5x% = 20x% + 60x + 144
@ x* 4 5x% — 2042 — 60x + 144
B x* +5x3 4+ 20x2 - 60x — 144
@ x* - 5x3 4 20x% - 60x + 144

® x* 4 5x3 — 20x2 + 60x — 144

B

(FA) = (x+2)(x = 6)(x + 3)(x - 4)
=(x2-12-4x)(x>-12-x)
2-12=4A 2 X354
(FA]) = (A -4x)(A - x)
= A% — 5xA + 4x2
= (% = 12)? - 5x(x* - 12) + 4x°
= x* — 5x3 — 2022 + 60x + 144

A




18.

ab-2a-2b+4 5 <

@ (a+2)(b-2)

@ (a-2)(b+2)
® (a+1)(b-2)

® (a+2)(b+2)




19. -y —x+5y-6=A(x+y-3) & o, A5 o7

O x+y+2 @ 3x-y+2 ® x-y+4
(@)x—y—i—Q ® x-3y+2

~&B

22—y —x+5y—6
=x*—x— (> -5y +6)
=x?—x-(y-3)(y-2)
={x+0-3)}{x-0-2)}
=@ +y-3)(x-y+2)
LA=x-y+2




¥ -y +8x+4y+12

@ (x+y+3)(x-y+4)
® (x+y+2)(x+y+6)
@(x+y+2)(x—y+6)

@ (x+y+4)(x-y+3)

@ (x+y-2)(x-y-6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)




